. Starter .
1) Solve
(1)
4x + 3y + z = 1



(2)
  x –  y  + 3z = 5



(3)
14x + 14y – 2z = 3
2) Describe geometrically what is happening in this situation.
3)  Prove that this situation is the only one possible.

4)  If equation (3) is rewritten as 14x + 14y – 2z = 3

. What sort of equations? .
Given the set of equations:



(1)
2x + 4y – 2z = 3


(2)
  x +  2y  +  Az  = 6



(3)
7x + 14y +  Bz  = C


1)  What values of A, B & C result in 3 parallel planes?
2)  What values of A, B & C result in 2 parallel planes?

3)  What values of A, B & C result in a Unique Solution?
4)  What values of A, B & C result in Infinite Solutions? (describe geometrically what is happening)
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